Configuration A

A TestSuite consists of two deployable instances each of which is mapped to a separate location within an associated deployment.


Configuration B

The TestSuite has its two deployable instances mapped to the same location within its associated deployment.


Note : Solid lines represent aggregation by value. Dotted lines represent aggregation by reference.

Question.

In order to persist both configurations as part of TPFTestSuiteA, would the user have to clone TPFDeploymentA or are we perhaps missing a classifier from the model which would encapsulate the detailed mappings between TPFDeployableInstances and CFGLocations for a particular TPFTestSuite.
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